

$$F(F(\frac{y}{x}))$$

$$COT \frac{\pi}{f} \rightarrow COT \frac{1}{3} \pi \rightarrow \sqrt{3}$$

$$F(\sqrt{r})$$

$$\sqrt{(\sqrt{2})^2 + 1} = \boxed{2}$$

④

$$F(g(\frac{\pi}{r})) = g(\frac{\pi}{r}), r(\frac{1}{r}), \frac{1}{r}$$

$$F\left(\frac{1}{F_y}\right)_{\alpha} = \sqrt{\frac{r(r)-1}{r}} = \boxed{\frac{\sqrt{r}}{r}}$$

$$F(g(\sqrt{r})) = \frac{\sqrt{r}}{1-\sqrt{r}} \times \frac{1+\sqrt{r}}{1+\sqrt{r}} = \frac{\sqrt{r+1}}{1-r} ; \frac{\sqrt{r+1}}{-1} = -r-\sqrt{r} \Rightarrow F(-r-\sqrt{r}) = \boxed{-1}$$

$$g(F(\frac{\pi}{f})) \Rightarrow F(\frac{\pi}{f}) = \sin \frac{\pi}{f} = \frac{\sqrt{f}}{f}$$

$$g\left(\frac{\sqrt{F}}{F}\right) = \frac{\sqrt{F}}{F} \sqrt{1 - \left(\frac{\sqrt{F}}{F}\right)^2} = \frac{\sqrt{F}}{F} \sqrt{1 - \frac{1}{F}} = \frac{\sqrt{F}}{F} \sqrt{\frac{F-1}{F}} = \frac{\sqrt{F}}{F} \times \frac{\sqrt{F-1}}{\sqrt{F}} = \frac{\sqrt{F-1}}{F} = \sqrt{\frac{F-1}{F^2}}$$

۵ $g \rightarrow f$ (الف)

$$r \rightarrow f \rightarrow 0$$

$$4 \rightarrow 8 \rightarrow 15$$

$$A \rightarrow 1 \rightarrow 12$$

$$\Rightarrow \text{Fog}(m) = \{(f, 5), (2, 5), (1, 12), (1, 12)\}$$

c.) $F \rightarrow \Delta \times$

$$\gamma \rightarrow \omega \quad f \circ f(n) \in \emptyset$$

$1 \rightarrow 15 \times$

1. → 15x

$$f \rightarrow g \rightarrow h$$

$$1 \rightarrow 1 \rightarrow 2$$

$$\gamma \rightarrow \Lambda \rightarrow 10$$

$1+1^0$

$$g \circ g(n) = \{(1,1), (2,2), (3,3)\}$$

$$\{ f_n \} \subset \mathcal{C}$$

$$S \rightarrow \Delta$$

$$1 \rightarrow 15$$

$1 \rightarrow 15$

$$Y \xrightarrow{f(n)} I \rightarrow \mathbb{Z}$$

۴۰۵

$$f \rightarrow a-1 \rightarrow (b, 1)$$

1 → v

$$h \circ g \circ f$$

1 2 3 4

٢١ - ٢٢

$$a \rightarrow r \rightarrow r \rightarrow (x, r) \rightarrow (a, r)$$

$$b \Rightarrow 1 \cup v$$

$$(a, b) \sim (c, d)$$

$$a(a+nb) + b = f_{n+1}$$

$$a f_n + a b + b = f_{n+1} \Rightarrow a = 1, b = 1 \Rightarrow g = f_{n+1}$$

$$c(f_{n+1}) + b = f_{n+1} \Rightarrow c f_{n+1} + b = f_{n+1} \Rightarrow c = \frac{f_{n+1}}{f_{n+1} - b} = \frac{f_{n+1}}{f_{n+1} - 1} \Rightarrow g = \frac{f_{n+1}}{f_{n+1} - 1}$$

$$g(f(-1)) = (-1) + 1 = -1 \Rightarrow g(-1) = \frac{f(-1)}{f(-1) - 1} = \frac{1}{1 - 1} = -1 \Rightarrow \boxed{-1}$$

$$x \in P_f : F(x) \in P_g$$

$$\hookrightarrow \sqrt{n+1} \neq f \Rightarrow n \neq 1$$

$$\sqrt{n+1} \neq n \Rightarrow n \neq 1$$

$$P_f = \sqrt{n+1}$$

$$= P_f = \mathbb{R}^+$$

$$P_{g \circ f} = (0, 1) \cup (1, +\infty)$$

$$x \in P_f : F(x) \in P_{f \circ g} \Rightarrow P_f = -1 \leq x \leq 1$$

$$F(x) \in P_{f \circ g} \Rightarrow [0, 1] \hookrightarrow 0 \leq F(x) \leq 1$$

$$P_f = [-1, 1]$$

$$P_g = (0, \infty)$$

$$\frac{f_{n+1}}{n-1} = 1 \Rightarrow x_{T-1} = f_{n+1} \Rightarrow x_{T-1} = f_{n+1}$$

$$F(t) = f\left(\frac{f_{t+1}}{t-1}\right) + d = \frac{1 \cdot f_{t+1}}{t-1} + \frac{1 \cdot f_{t-1}}{t-1} = \frac{f_{t+1} + f_{t-1}}{t-1} = F(n) = \frac{f_{n+1} + f_{n-1}}{n-1}$$

$$n + \frac{1}{n} = T \Rightarrow T^n = n^n + n \frac{1}{n} + n \frac{1}{n^2} = n^n + 1 + \frac{1}{n}$$

$$\Rightarrow T^n = n^n + 1 + \frac{1}{n} \Rightarrow T^n = n^n + 1 + \frac{1}{n}$$

$$\Rightarrow F(n) = 1 + \frac{1}{n} \Rightarrow F(n) = \frac{n+1}{n}$$

$$g(1) = 1$$

$$g(\sqrt{n}) = 1$$

$$g(F(n)) = 1$$

$$\Rightarrow F(n) = 1 \Rightarrow n\sqrt{n} = 1 \Rightarrow \sqrt{n} = 1$$

$$F(n) = \sqrt{n} \Rightarrow n\sqrt{n} = \sqrt{n} \Rightarrow \boxed{n=1}$$

$$|x_1 - x_2| = 1 \Rightarrow \boxed{1}$$